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Short answer questions/problems

1.  How is the value of call related to the variance of returns on the underlying asset for the call?
Direct => as increase variance, value of call increases

Use the information on the attached pages from the Wall Street Journal to answer questions 2 and 3.

2.  Assume that on Thursday, June 19, you sold 7 call contracts on Dell with an exercise price of $27.50 which expire in August.  What cash flow occurred when you sold the calls?  (Use a “+” to indicate in inflow and a “-“ to indicate an outflow).
+3570 = +5.10*7*100

3.  Assume that a month from today, Dell’s stock price has fallen by $2 per share from its price on June 19th.  Assume also that the calls are exercised.  Assuming you do not currently own shares of Dell stock, what cash flow would you experience?  (Use a “+” to indicate in inflow and a “-“ to indicate an outflow).

-1869 = (+27.50 – 30.17)*7*100

4.  What fundamental issue underlies the incentive for management to expend less effort than is optimal from the perspective of stockholders?
Management bears all the cost but shares the benefit with stockholders.

5.  What two factors lead stockholders to gain at the expense of bondholders when the firm pays a dividend?
1)  value of firm drops by the amount of the dividend but stock value drops by less than the dividend since bond values also drop, 2) risk increases since riskless cash is paid out.

6.  How does convertible debt help resolve conflicts of interest between stockholders and bondholders?
If firm undertakes action to benefit stockholders at bondholders expense, bondholders convert into stockholders.

7.  What does it mean for a stock to be “listed” as opposed to “non-listed”?
Listed stock is traded on an exchange while non-listed stock is traded over the counter.

8.  What are the implications of an investment banking firm underwriting a stock issue?
The investment banker accepts the price risk from the firm.

9.  Assume capital markets are perfect.  If you do nothing, how will a decision by McNodalds (in which you own stock) to issue debt and repurchase outstanding shares affect the risk you face as a McNodals’ stockholder?
Increase.

10.  According to the Pecking Order Theory, what are the most and least preferred sources of funding?  Be sure to specify which is most and which is least preferred.
Most = internal funds, least = external equity.
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Problems/Essays

1.  Assume that Crisco Systems Inc. (a firm devoted to using the latest networking technology to solve critical baking problems) is building a new factory to produce its wireless baking pans (the pans communicate with the oven to regulate temperature).  Crisco estimates that the manufacturing facility would cost $30 million to build and would produce net cash flows over the next 25 years with a present value today of $35 million.  Crisco plans to pay for this facility by using $5 million of surplus cash, by issuing bonds that mature 10 years from today for $40 million, and by issuing common stock.  The expansion would be significant since the market value of Crisco’s existing assets is only $90 million.  The additional debt would also represent a significant increase in Crisco’s overall debt since its existing debt matures 10 years from today for $30 million.  Crisco estimates that its existing assets (including its cash) have a standard deviation of returns of 45% and a beta of 1.2 and that the new facility will be riskier with a standard deviation of returns of 55% and a beta of 1.25.  Once the project is undertaken, the standard deviation of returns on the firm’s assets will equal 46% and the beta will equal 1.26.  Crisco estimates that the market risk premium is 8% and that the risk-free rate (APRs assuming continuous compounding) varies according to maturity as follows:  1-month = 0.82%, 1-year = 0.80%, 5-year = 2.30%, 10-year = 3.34%, 25-year = 4.49%.

If we view Crisco’s stock as a call on its assets, what will be the value of Crisco stock after the new factory is built?

V0 = 90 + 25 – 30 + 35 = 120

Dt = 30 + 40 = 70

t = 10

2 = (.46)2  = .2116
rf = .0334
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2.   Assume you own shares in McNodalds and that you have become increasingly alarmed by what you perceive as actions by management that enrich themselves at the expense of stockholders.  As a result, you have decided to write a number of proposals which will be voted on by shareholders.  What might you include in your proposals?

(1)  Proposal that requires the majority if not all the members of the Board of Directors to be independent of management.

(2)  Give management incentives to act in stockholder’s interests.

=> Give management stock, or options, or bonuses based on something like EVA that is linked to stockholder wealth

(3)  If firm has high levels of free cash flow, encourage firm to increase leverage by issuing debt and buying back stock.  This helps by:  a)  taking excess cash out of management’s hands so won’t waste it, b)  the requirement to make debt service keeping the pressure on management to perform, and c) allowing management to own a larger percentage of the firm’s equity.

Exam II; F5360; Summer, 2003; page 3 of 4
3.  President Bush’s recent tax cut plan cuts the individual tax rates on ordinary income and cuts even further the tax rates on dividends received and on capital gains.  Assume that the tax cuts also manage to stimulate the economy so that the typical firm generates more profit.   Show graphically and discuss the tax cut plan should affect the total amount of debt in the economy and the debt issued by the typical firm.  

Let: 
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 be expected tax savings per $ of interest paid after corporate profits rise due to the stimulus package.  
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be the initial tax rate on ordinary personal income and 
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be the tax rate on ordinary personal income after the reduction in personal taxes.
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be the tax rate for the marginal investor before the tax cut and 
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be the tax rate for the marginal investor after the changes.

TD(1) be the initial equilibrium amount of total debt and TD(2) be the equilibrium total debt after the changes in the tax rates.
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 is the initial optimal amount of debt for the typical firm and 
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Total debt graph:  Both 
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start out at Tc but eventually slope downwards as the total debt rises.  
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and thus appears to be to the right of 
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Individual firm graph:  Both 
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Discussion:  Total debt rises.  The cut in personal tax rates increases the incentive to have debt since less personal taxes will be paid on interest income.  In addition, the increase in profits shifts 
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 to the right (falls less quickly) since the expected tax savings per $ of interest falls more slowly.
The debt for the typical  firms falls.  While the impact of these changes on the tax rate for the marginal investor is unclear, the increase in profits shifts 
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 to the right.  This gives the firm an incentive to issue more debt since the expected tax savings from the debt falls off more slowly.
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4.  Five years ago, Palms Up (a firm that sells only Palm handhelds) issued a significant amount of debt in order to fund its building of new retail stores.  Ignoring all issues related to taxes, discuss the characteristics of a firm that might have changed since 5 years ago that would make Palms Up less willing to issue debt now to provide funding to build additional stores?  
Lower and/or more volatile earnings and cash flow.
=> existing covenants may prohibit additional debt

=> increases chance of bankruptcy

=> expected bankruptcy costs are higher

=> less confidence in firm

=> increases potential for: lost sales, higher credit costs, loss of key employees, loss of supplier credit
=> management may already be spending too much time avoiding bankruptcy and/or making decisions that hurt the firm in the long-run due to high debt levels

=> additional debt would make things even worse

=> bonds are now very expensive to issue due to an already high level of stockholder-bondholder conflict

=> new bonds would have even more restrictive covenants, more stringent monitoring, and is more likely to be convertible.  
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